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	LEARNING OBJECTIVES

1.
Apply and discuss the accounting for termination benefits.

2.
Apply and discuss the accounting treatment of defined contribution plans.

3.
Apply and discuss the accounting treatment of defined benefit plans.

4.
Apply and discuss the reporting of remeasurement gains and losses and the asset ceiling test.

5.
Account for gains and losses on settlements and curtailments.

6.
Apply and discuss the accounting for termination benefits.
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1.
Introduction to Employee Benefits
1.1
The recognizes four categories of employee benefits, and proposes a different accounting treatment for each.

(a)
Short-term employee benefits:

(i)
Wages and salaries

(ii)
Contributions to MPF

(iii)
Paid annual leave

(iv)
Paid sick leave

(v)
Paid maternity/paternitu leave

(vi)
Profits shares and bonuses paid within 12 months of the year end

(vii)
Paid jury service

(viii)
Paid military service

(ix)
Non-monetary benefits, e.g. medical care, cars, free goods, etc.

(b)
Post-employment benefits:

(i)
Pensions

(ii)
Post-employment medical care

(c)
Other long-term benefits:

(i)
Profits shares
(ii)
Bonuses

(iii)
Sabbatical leave

(iv)
Long-service benefits

(d)
Termination benefits:
(i)
Early retirement payaments

(ii)
Redundancy payments
2.
Short-term Employee Benefits

2.1
Recognition and measurement

2.1.1
Short-term employee benefits are those benefits that fall within 12 months from the end of the period in which the employees provide the related services.
2.1.2
HKAS 19 requires that short-term employee benefits are recognized in the period in which the related service is provided by the employee as:

(a)
a liability (after deducting any amount already paid), and

(b)
an expense unless another standard (such as HKAS 2 or HKAS 16) requires or permits inclusion in the cost of asset.

2.1.3
The amount recognized should not be discounted.
2.2
Short-term compensated absences

2.2.1
They include holiday leave, sick leave, maternity or paternity leave and jury service leave.

	2.2.2
	Categories and accounting treatment

	
	(a)
accumulating compensated absences – are those that can be carried forward and used in future periods if the current period’s entitlement is not used in full;

Accounting treatment:

· recognized as an expense,

· where there is an unused entitlement, a liability is recognized, based on an estimated amount.

(b)
non-accumulating compensated absences – are those which cannot be carried forward and lapse if the current year entitlement is not used.

Accounting treatment:

· recongised as an expense when the absences occur.


	2.2.3
	Example 1

	
	An entity has 10 employees, each of whom is entitled to 7 days of paid sick leave per annum. Unused sick leave may be carried forward for one year. Carried forward leave must be used before current year leave. At 31 December 2016, each employee had, on average, two days of leave unused. Based on past experience the entity expects 8 employees to take no more than 7 days of sick leave in the coming year. The remaining 2 employees are expected to take 5 days each.

Assuming that each sick day cost the entity $100, how is this reflected in the financial statements for the year ended 31 December 2016?

Solution:

An expense is recognized for the cost of producing the sick leave:

= 10 employees × 7 days × $100 = $7,000

$
$
Dr.
Employee expense
7,000
Cr.

Liability

7,000
(Being sick leave accrued during the year.)

A liability is also recognized in the statement of financial position to the extent that the unused amount is expected to be carried forward:

= 2 employees × 2 days × $100 = $400

$
$
Dr.
Liability ($7,000 – $400)
6,600
Cr.

Employee expense

6,600
(Being unused leave forfeited during the year.)




2.3
Profit-sharing schemes and bonus plans
	2.3.1
	Recognition and measurement

	
	(a)
HKAS 19 requires that an entity recognizes the expected cost of profit-sharing and bonus payments only when:

(i)
the entity has a present legal or constructive obligation to make such payments as a result of past events, and

(ii)
a reliable estimate of the obligation can be made.

(b)
It’s often to have conditions attached to bonus payments, for example an employee must still be in the entity’s employment when the bonus becomes payable. Therefore, an estimate should be made based on the expectation of the level of bonuses that will ultimately be paid. A reliable estimate can only be made when:
(i)
the formal terms of the plan include a formula to determine the amount of the benefit;

(ii)
the entity determines the amount payable before the financial statements are authorized for issue; or

(iii)
Past practice provides clear evidence of the amount of a constructive obligation.


	2.3.2
	Example 2

	
	ABC Co has a contractual agreement to pay a total of 5% of its net profit each year as a bonus. The bonus is divided between the employees who are with the entity at its year end. The following data is relevant:

Net profit

$2,000,000

Average employees

50

Employees at start of year

60

Employees at end of year

40

Required:

How should the expense be recognized?

Solution:

An expense should be recognized for the year in which the profits were made and therefore the employees’ services were provided, for:

= $2m × 5% = $100,000

Each of the 40 employees remaining with the entity at the year end is entitled to $2,500. A liability of $100,000 should be recognized if the bonuses remain unpaid at the year end.


3.
Post-employment Benefits
3.1
Post employment benefits are those benefits provided to employees after they have stopped working. They may include:

(a)
retirement benefits (pensions), and

(b)
other benefits such as post-employment life insurance or medical care.

3.2
There are two types of post-employment benefit plans:
(a)
Defined contribution plans

(b)
Defined benefit plans

	3.3
	Types of post-employment benefit plans

	
	(a)
Defined contribution plans
(i)
These plans involve fixed amounts (normally a percentage of an employee’s salary) being paid into the plan each year. These amounts, or contributions, may be made by the employer and current employees.
(ii)
The level of benefits paid out to former employees is resultant on how the plan’s investments have performed. In other words, there is no guarantee of a fixed amount of benefit.
(b)
Defined benefit plans
(i)
With this plans, the size of the post-employment benefits is determined in advance, i.e. the benefits are defined. The fixed amount ii normally calculated as a percentage (based on the number of years’ service) of final salary.
(ii)
As before, contributions are made by the employer (and possibly current employees) and these are invested. The level of contributions is not, however, fixed. Instead it is set an amount that is expected to result in sufficient investment returns to meet the obligation to pay the defined post-retirement benefits.
(iii)
Where it appears that there are insufficient assets in the fund, the employer will be required to make increased contributions.

(iv)
Where it appears that there are surplus assets in the fund, the employer may stop paying contributions for a period (known as a contributions holiday).

(v)
Therefore, the cost of providing defined benefit pensions will vary year-by-year over the working life of employees due to changes in circumstances, estimates and assumptions.


3.4
The principle differences between defined contribution and defined benefit plans are as follows:
	
	Defined contribution plans
	Defined benefit plans

	Enterprise’s legal or constructive obligation
	Limited to the amount that the enterprise agrees to contribute to the fund
	To provide the agreed benefits to current and former employees

	Post-employment benefits received by the employee
	Determined by the amount of contributions paid by an enterprise, and perhaps also by the employee, to the plan, together with investment returns.
	As agreed to current and former employees. For example, a lump sum benefit payable on termination of service and equal to 2% of final service for each year of service.

	Actuarial risk
	The risk that benefits will be less than expected fall on the employee
	The risks that benefits will cost more than expected fall on the enterprise

	Investment risk, the risk that assets invested will be insufficient to meet expected benefits
	Fall on the employee
	Fall on the enterprise


3.5
Multi-employer plans:
(a)
They are retirement benefit plans in which various entities contribute assets to a pool.

(b)
These pooled assets are then used to provide benefits to employees of the various contributing entities.

4.
Defined Contribution Plans
	4.1
	Recognition and measurement

	
	Accounting for defined contribution plans is relatively straightforward:

(a)
Contributions to a defined contribution plan should be recognized as an expense in the period they are payable.
(Except to the extent that labour costs may be included within the cost of assets.)

(b)
Any liability for unpaid contributions that are due as at the end of the period should be recognized as a liability (accrued expense).
(c)
Any excess contributions paid should be recognized as an asset (prepaid expense), but only to the extent that the prepayment will lead to, for example, a reduction in future payments or a cash refund.


4.2
Where contributions are not payable during the period in which the employee provides the services to which they relate, the amount recognized should be discounted, to reflect the time value of money.
	4.3
	Example 3

	
	XYZ Co agrees to contribute 4% of employees’ total remuneration into a post-employment plan each period.
In the year ended 31 December 2016, the company paid total salaries of $16 million. A bonus of $4 million based on the income for the period was paid to the employees in March 2016.

The company had paid $760,000 into the plan by 31 December 2016.

Required:

Calculate the total expense for post-employment benefits for the year and the accrual which will appear in the statement of financial position at 31 December 2016.

Solution:

The total post-employment benefit cost for current year:

= $(16m + 4m) × 4%

= $800,000

$
$
Dr.
Staff cost expense
800,000
Cr.

Cash

760,000
Cr.

Accrual

40,000




4.4
Disclosure
(a)
A description of the plan,

(b)
The amount recognized as an expense in the period.

5.
Defined Benefit Plans

5.1
Definitions
5.1.1
The complexity of accounting for defined benefits plans stems largely from the following factors.

(a)
The future benefits cannot be estimated exactly, it is necessary to use actuarial assumptions.

(b)
The obligations payable in future years should be valued, by discounting, on a present value basis. This is because the obligations may be settled in many years’ time.

(c)
If actuarial assumptions change, the amount of required contributions to the fund will change, and there may be actuarial gains or losses.

5.1.2
Recognising the amounts in the financial statements


[image: image2.wmf]Service Cost

Component

Net Interest

Component

Profit or Loss

Remeasurement

Component

Other

Comprehensive

Income

Plan

Obligation

Plan

Assets

Asset

Ceiling

Statement of

Financial

Position

Defined

Benefit

Plan


	5.1.3
	Definitions

	
	(a)
Current service cost is the increase in the present value of the defined benefit obligation resulting from employee service in the current period. This is part of the service cost component.

(b)
Past service cost is the change in the present value of the defined benefit obligation for employee service in prior periods, resulting from a plan amendment or a curtailment. For example, past service costs could arise when there has been improvement in the benefits to be provided under the plan.
(c)
Net interest component relates to the change in measurement in both the plan obligation and plan assets arising from the passage of time.
It is computed by applying the discount rate used to measure the plan obligation to the net liability (or asset) at the start of the reporting period irrespective of whether this results in net interest expense (or interest income) for the year.

Net interest is charged (or credited) as a separate component to profit or loss for the year.

(d)
Remeasurement component comprises actuarial gains and losses arising during the reporting period, including the actual returns on plan assets less any amount taken to profit or loss as part of the net interest component.
Actuarial gains and losses are increases and decreases in the net pension asset or net liability that occur either because the actuarial assumptions have changed or because of differences between the previous actuarial assumptions and what has actually happened (experience adjustments).

This component is recognized in other comprehensive income for the year and will not be recycled or reclassified to profit or loss in future periods.


5.2
Accounting steps
5.2.1
HKAS 19 provides a four-step approach to accounting for defined benefit plans:

	Steps
	Explanation

	1.
Determine the deficit or surplus
	(a)
Use an actuarial technique in order to make a reliable estimate of the cost to the entity of providing the post-employment benefit that employees have earned in current and past periods.

(b)
Discount that benefit to determine the present value of the defined benefit obligation.

(c)
Deduct the fair value of plan assets from the present value of the defined benefit obligation.

	2.
Determine the amount of the net defined benefit liability (asset)
	The amount of deficit or surplus calculated in step 1 may require adjustment for the effect of limiting a net defined benefit asset to the asset ceiling.

	3.
Determine amounts to be recognized in profit or loss
	These may include:

(a)
current service cost

(b)
past service cost and gain or loss on settlement

(c)
net interest on the defined benefit liability (asset)

	4.
Determine remeasurements to be recognized in other comprehensive income
	These may include:

(a)
actuarial gains and losses
(b)
return on plan assets excluding amounts included in net interest on the defined benefit liability (asset)

(c)
any change in the effect of the asset ceiling excluding amounts included in net interest on the defined benefit liability (asset)


5.3
Step 1: Determine the deficit or surplus
5.3.1
Measurement of the deficit or surplus is not required at every period end. However, it must be made sufficiency regularly such that reported amounts are not materially different from the actual value at the reporting date.

5.3.2
HKAS 19 encourages, but does not require, the use of a qualified actuary.

5.3.3
The cost providing future benefits in respect of current and past services should be estimated using an actuarial technique, the projected unit credit method.

(a)
Estimation of future cost using the projected unit credit method.

5.3.4
The projected unit credit method assumes that each period of an employee’s service gives rise to an additional ‘unit’ of future benefit. Each of these unit is measured separately and they are added together to calculate the total obligation.

5.3.5
In measuring the obligation, the actuary must make a number of actuarial assumptions, both demographic and financial, for example:

(a)
What the defined benefits will be (this depends on factors such as length of service and final salary)

(b)
When benefits will be paid (this depends on retirement age)

(c)
How many employees will draw a pension (this depends on factors such as mortality rate)
	5.3.6
	Example 4 – Projected unit credit method – lump sum payment

	
	A Ltd contracted to pay its employees, on termination of service, a lump sum equal to 1% of the final annual salary for each year of service. The annual salary of E, recruited on 1 January 2012, is HK$1,000,000 and is expected to increase at 7% each year.

For simplicity, assume E will leave A Ltd on 31 December 2016, ignoring the probability that E may leave the enterprise at an earlier or later date. Assume the appropriate discount rate to use is 10% per annum.

Required:

Determine the present value of A Ltd’s obligation to E’s post employment benefit at 31 December for each of five years from 2012 to 2016 and the current service cost and interest cost for each of the five years ending 31 December 2012 to 2016.

Solution:

The final annual salary will be HK$1,310,796 (HK$1,000,000 × 1.074). The lump sum payable will be HK$65,540 (HK$13,108 × 5). The benefit attribute to each of the five years and the corresponding current service cost and interest cost are as follows:
2012
2013
2014
2015
2016
Benefit attributed to
$
$
$
$
$
- current year
a
13,108

13,108

13,108

13,108

13,108

- prior year

b

-

13,108

26,216

39,324

54,432

Obligation (undiscounted) at 31/12

c = a + b

13,108

26,216

39,324

52,432

65,540

Discount factor

d

1/1.104

1/1.103

1/1.102

1/1.10

1

PV of obligation at opening

e
-
8,953
19,696
32,499
47,655
- interest cost

e × 10%
-
895

1,970

3,250

4,767

- current service cost

a × d
8,953

9,848

10,833

11,916

13,108

PV of obligation at 31/12

c × d

8,953

19,696

32,499

47,665

65,540




(b)
Fair value of plan assets
5.3.7
In order to determine the deficit or surplus, the fair value of plan assets must be deducted from the present value of the defined benefit obligation.

5.3.8
Plan assets are:

(a)
assets such as stocks and shares, held by a fund that is legally separate from the reporting entity, which exists solely to pay employee benefits.

(b)
insurance policies, issued by an insurer that is not a related party, the proceeds of which can only be used to pay employee benefits.
5.4
Step 2: Determine the amount of the net defined benefit liability (or asset)

5.4.1
In the statement of financial position, the amount recognized as a defined benefit liability (or asset) should be the following:
(a)
The PV of the defined obligation at the year end, minus
(b)
The fair value of the assets of the plan as at the year end (if there are any) out of which the future obligations to current and past employees will be directly settled.

5.4.2
Where there is a net defined benefit asset, the amount of this may be limited by the asset ceiling.
5.5
Step 3: Determine the amounts to be recognized in profit or loss
5.5.1
The change in the net defined benefit liability (asset) as measured by an actuary at the start and the end of a financial period can be attributed to contributions made into the plan, payments made out of the plan and three further components:

(a)
service costs,
(b)
net interest on the net defined benefit liability (asset), and

(c)
remeasurements.

5.5.2
The first two components are recognized in profit or loss. The third is recognized in other comprehensive income.
5.5.3
Service costs include:
(a)
current service cost, being the increase in the present value of the defined benefit obligation resulting from employee service during the current period,

(b)
past service cost, being the change in the obligation relating to employee services in prior periods arising from amendments or curtailments to the pension plan

(c)
gains or losses on settlement of a defined benefit plan.

5.5.4
Annual interest arises in respect of both the defined benefit obligation and the plan assets:
(a)
an interest charge arises on the unwinding of the discount on the defined benefit obligation as time passes, and

(b)
interest income is recognized on the plan assets.

5.6
Step 4: Determine amounts to be recognized in other comprehensive income

5.6.1
The third component of changes in a net defined benefit liability (asset) is remeasurements. These are recognized in other comprehensive income and never reclassified to profit or loss.

5.6.2
Remeasurements may include:

(a)
actuarial gains and losses;

(b)
the return on plan assets (excluding amounts included in net interest on the net defined benefit liability (asset)); and

(c)
any change in the effect of the asset ceiling (excluding amounts included in net interest on the net defined benefit liability (asset)).
5.6.3
Actuarial gains and losses arise from changes to the defined benefit obligation because of changes in actuarial assumptions and experience adjustments:
(a)
Actual events – The calculation of the plan obligation and the current service cost is based on estimates of numbers of employees remaining in the plan during the current year as well as estimates about salary changes during the current year. Where staff leave or salaries are increased by amounts different from those expected, the year end obligation will be different from that previously expected.
(b)
Actuarial assumptions are revised – The valuation of the plan obligation depends upon a number of what are called actuarial assumptions. These include the discount rate, estimates of staff remaining in the plan until retirement, projected salaries on retirement, mortality rates and the length of time over which benefits need to be paid. These estimates can be changed as the entity, or its actuaries, reassess the future.
(c)
Actual returns on plan assets – The valuation of the plan assets includes an estimated rate of return for the current year. At the year end the plan assets may have grown by an amount different from that expected.
5.6.4
A new valuation of the plan assets is carried out at each period end, using current fair values. Any difference between the new value, and what has been recognised up to that date (normally the opening balance, interest, and any cash payments into or out of the plan) is treated as a 'remeasurement' and recognised in other comprehensive income.
	5.6.5
	Example 5 – Accounting treatment of defined benefit plan

	
	The following information relates to a defined benefit pension plan operated by ABC Co:

$m
Present value of defined benefit obligation at 1 January 2016
100
Present value of defined benefit obligation at 31 December 2016
120
Fair value of plan assets at 1 January 2016
60

Fair value of plan assets at 31 December 2016
55

Current service cost

18

Contributions made into the scheme

12

Payments made to members of the scheme

15

The yield on a high quality corporate bond is 5%.

Required:

Calculate amounts to be recognised in profit or loss and other comprehensive income in the year ended 31 December 2016 and the value of the net defined benefit liability in the statement of financial position at that date.
Solution:

Obligation
Assets
Net defined benefit liability
$m
$m
$m
At 1 January 2016
100

60

40

Current service cost

18

Contributions

12

Payments

(15)

(15)

Interest

(5% × 100m) / (5% × 60m)

5

3

108

60

Remeasurements (bal. fig.)

12

(5)

At 31 December 2016
120

55

65

In the statement of comprehensive income, the following amounts will be recognized:

In profit or loss
$m
Current service cost
18

Net interest on net defined benefit liability (5 – 3)

2

In other comprehensive income

Remeasurement losses on defined benefit liability (12 + 5)

17

[Note that the remeasurement in relation to both the asset and liability is a loss as it decreases the asset and increases the liability.]
In the statement of financial position, the net defined benefit liability of $65m (120 – 55) will be recognised.


6.
Past Service Costs, Curtailments and Settlements
6.1
Past service costs and curtailment
	6.1.1
	Definitions

	
	(a)
Past service costs arise as a result of the amendment or curtailment of a defined benefits plan.
(b)
A plan amendment arises when an entity introduces a new defined benefits plan, withdraws an existing plan, or changes the benefits payable under an existing plan.

(c)
A curtailment occurs when an entity significantly reduces the number of employees covered by a plan. It may arise from an isolated event, such as the closing of a plant, discontinuance of an operation or termination or suspension of a plan. Curtailments are often linked with a restructuring.


	6.1.2
	Accounting treatment of past service costs

	
	Past service costs are recognized as an expense in profit or loss at the earlier of the following dates:

(a)
when the plan amendment or curtailment occurs

(b)
when the entity recognizes related restructuring costs in accordance with HKAS 37 or termination benefits in accordance with HKAS 19.


	6.1.3
	Example 6 – Past service cost

	
	A defined benefit plan provides for retirement benefits at the rate of 1% of salary per annum for all employees from the commencement of their employment. On 31 December 2015, the defined benefit obligation is measured at $18 million and the plan assets have a fair value of $15.5 million. Corresponding amounts at 31 December 2015 are $22.5 million and $16 million.
On 1 January 2016, the rules of the plan are changed to provide for benefit at the rate of 2% of salary for employees with 15 or more years’ service and the defined benefit obligation on the new basis is $20 million. Other relevant information is as follows:
· Current service cost is $3 million for the year ended 31 December 2016
· Market yields on high quality corporate bonds were 4% at 1 January 2016 and 4.5% at 31 December 2016
· An overall remeasurement loss of $1.2 million was identified.

Required:

What amount is recognised in profit or loss in respect of the defined benefit plan in the year ended 31 December 2016?
Solution:

The past service cost measured as the increase in the defined benefit obligation is $20m – $18m = $2m.

Net interest is calculated using the year-end market rate on a high quality corporate bond. This rate is applied to the net defined benefit liability at the start of the year.
Therefore the total charge to profit or loss is:

$
Current service cost
3,000,000
Past service cost

2,000,000

Net interest [($18m – $15.5m) × 4.5%]

112,500

5,112,500




6.2
Settlements
	6.2.1
	Definition and accounting treatment

	
	(a)
A settlement occurs when an employer enters into a transaction to eliminate all or part of its post-employment benefit obligations, for example, a one-off transfer of obligations under a plan to an insurance company through the purchase of an insurance policy.

(b)
The gain or loss on a settlement is the difference between:

(i)
the present value of the defined benefit obligation being settled, as valued on the date of the settlement; and

(ii)
the settlement price, including any plan assets transferred and any payments made by the entity directly in connection with the settlement.

(c)
Any gains or losses on settlement are recognized immediately in profit or loss when the settlement occurs.


7.
The Asset Ceiling
7.1
Sometimes the deduction of plan assets from the pension obligation results in a negative amount, i.e., an asset. HKAS 19 states that pension plan assets (surpluses) are measured at the lower of:

(a)
the amount calculated as normal per earlier examples, and

(b)
the total of the present value of any economic benefits available in the form of refunds from the plan or reductions in future contributions to the plan.

7.2
Applying the asset ceiling means that a surplus can only be recognized to the extent that it will be recoverable in the form of refunds or reduced contributions in future. This would make it compatible with the definition of an asset as included within the 2010 Conceptual Framework for Financial Reporting.
	7.3
	Example 7 – The asset ceiling

	
	ABC Co operates a defined benefit pension scheme for its employees. At 1 January 2013 the present value of the defined benefit obligation was $5 million and the fair value of the plan assets was $5.7 million. Equivalent values at 31 December 2016 were $5.94 million and $7.1 million.
For the year ended 31 December 2016:

· Current service cost was $1.5 million

· The interest rate applicable to the net defined benefit asset was 3%

· Contributions of $2 million were made to the plan

· $800,000 was paid out to former employees of ABC Co
The present value of future economic benefits in relation to the plan is $1.1 million.

Required:

What amount of remeasurement is recognised in other comprehensive income in the year ended 31 December 2016?
Solution:

Obligation
Assets
Net defined benefit liability
$000
$000
$000
At 1 January 2016
5,000
5,700
700
Current service cost

1,500
Contributions

2,000
Payments

(800)
(800)
Interest

(3% × 5m) / (3% × 5.7m)

150
171
5,850
7,071
Remeasurements (bal. fig.)

90
29
At 31 December 2016
5,940
7,100
1,160
Remeasurement due to asset ceiling (bal. fig.)
(60)

Asset ceiling

1,100

Therefore, the total remeasurement amount recognized in other comprehensive income is:

$000
Remeasurement loss on obligation
90

Remeasurement gain on assets

(29)

Remeasurement loss due to asset ceiling

60

Net remeasurement loss

121




8.
Summary of the Accounting Treatment of Defined Benefit Plan
8.1
The suggested approach to defined benefit schemes is to deal with the change in the obligation and asset in the following order, building up the disclosure notes:

	Items
	Description
	Recognition

	Opening figures
	Net defined benefit liability (asset):

· Present value of obligation, less

· Fair value of plan assets

As advised by the actuary
	

	Contributions
	As advised by the actuary
	Dr. Plan assets

Cr. Cash/other assets

	Benefits paid
	Pension payments made to retired former employers
	Dr. Plan obligation

Cr. Plan assets

	Current service cost
	Increase in plan obligation as a result of one extra year’s service
	Dr. Operating expense (P&L)

Cr. Plan obligation

	Past service cost
	Change in plan obligation as a result of improvement or withdrawal of benefits
	Improvement of benefits:
Dr. Operating expense

Cr. Plan obligation

Withdrawal of benefits:

Dr. Plan obligation

Cr. Operating expense

	Gains or losses on settlement
	Difference between the present value of the obligation on settlement date and the settlement amount
	Loss on settlement:

Dr. Operating expense
Cr. Plan obligation

Gain on settlement:

Dr. Plan obligation

Cr. Operating expense

	Net interest on net defined benefit liability (asset)
	Based on high quality corporate bond yield at end of period and net defined benefit liability (asset) at start of period.

Discount rate % × net defined benefit liability (asset) b/f
	Dr. Finance cost (P&L)

Cr. Plan obligation

AND

Dr. Plan assets

Cr. Finance cost


	Remeasurements
	Due to actuarial differences, the actual return on plan assets differing from the return calculated within net interest and change in the effect of the asset ceiling. Calculated as a balancing figure
	Dr. Other comprehensive income

Cr. Plan obligation/assets

OR

Dr. Plan obligation/assets

Cr. Other comprehensive income

	Closing figure
	Net defined benefit liability (asset):

· PV of obligation, less

· Fair value of plan assets

As advised by actuary
	


9.
Termination Benefits
9.1
Definition

9.1.1
Termination benefits are those employee benefits provided in exchange for the termination of an employee’s employment as a result of either:

(a)
an entity’s decision to terminate an employee’s employment before the normal retirement date; or

(b)
an employee’s decision to accept an offer of benefits in exchange for the termination of employment.
9.1.2
These benefits are dealt with separately in HKAS 19 as unlike other benefits, the event which gives rise to an obligation is the termination rather than the service of the employee.
9.2
Recognition

9.2.1
HKAS 19 states that termination benefits should be recognized in full as a liability and an expense at the earlier of:

(a)
when the entity can no longer withdraw the offer of termination benefits; and

(b)
when the entity recognises costs for a restructuring that is within the scope of HKAS 37 and involves the payment of termination benefits.
9.3
Measurement

9.3.1
Termination benefits are measured in accordance with the nature of the employee benefit:
(a)
If the termination benefits are an enhancement of post-employment benefits, they are accounted for as such.
(b)
Otherwise:
(i)
if the termination benefits are expected to be settled wholly before 12 months after the end of the annual reporting period in which the termination benefit is recognised, then they are accounted for as short-term employee benefits.

(ii)
If the termination benefits are not expected to be settled wholly before 12 months after the end of the annual reporting period, then they are accounted for as other long-term employee benefits. And the payments should be discounted to their present value.
Examination Style Questions
Question 1

The following information relates to the defined benefit employee compensation scheme of ABC Co:
	
	$000

	Present value of obligation at start of 2014
	20,000

	Market value of plan assets at start of 2014
	20,000


	
	2014
	2015

	
	$000
	$000

	Current service cost
	1,250
	1,430

	Benefits paid out
	987
	1,100

	Contributions paid by entity
	1,000
	1,100

	Present value of obligation at end of the year
	23,000
	20,400

	Market value of plan assets at end of the year
	21,500
	17,840

	Yield on corporate bonds at end of year
	8%
	9%


During 2014, the benefits available under the plan were improved. The resulting increase in the present value of the defined benefit obligation was $1 million.
On the final day of 2015, ABC Co divested of part of its business, and as part of the sale agreement, transferred the relevant part of its pension fund to the buyer. The present value of the defined benefit obligation transferred was $5.7 million and the fair value of plan assets transferred was $5.4 million. Rhodes also made a cash payment of $200,000 to the buyer in respect of the plan.
Assume that all transactions occur at the end of the year.

Required:

(a)
Calculate the net defined benefit liability as at the start and end of 2014 and 2015 showing clearly any remeasurement gain or loss on the plan each year.
(6 marks)

(b)
Show amounts to be recognised in the financial statements in each of the years 2014 and 2015 in respect of the plan.
(6 marks)
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